
RATIO
[ESTIMATED TIME: 75 minutes] GCSE

(+ IGCSE) EXAM QUESTION PRACTICE

.

1. [2 marks]

2. [2 marks]

3. [2 marks]
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4. [4 marks]

There are 20 students in a class.
12 of the students are girls.

Find the ratio of the number of girls to the number of boys.
Give your ratio in the form n : 1

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . : 1

5. [2 marks]
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6. [2 marks]

7. [6 marks]
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The perimeter of a triangle is 90 cm.
The lengths of the sides of the triangle are in the ratios 3 : 5 : 7

Work out the length of the longest side of the triangle.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . cm

8. [3 marks]

Carlos mixes cement, lime and sand in the ratios 1 : 2 : 9 by weight.

Work out the weight of cement, the weight of lime and the weight of sand in 60 kg of the 
mixture.

cement  ........................ kg

lime  ........................ kg

sand  ........................ kg

9. [3 marks]

10. [2 marks]
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11. [3 marks]

12. [4 marks]
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13. [4 marks]

Two fruit drinks, Fruto and Tropico, are sold in cartons.

(a) Fruto contains only orange and mango.

The ratio of orange to mango is 3 : 2

A carton of Fruto contains a total volume of 250 cm3.

Find the volume of orange in a carton of Fruto.

................... cm3

(3)

(b) Tropico contains only lemon, lime and grapefruit.

The ratios of lemon to lime to grapefruit are 1 : 2 : 5

The volume of grapefruit in a carton of Tropico is 200 cm3.

Find the total volume of Tropico in a carton.

................... cm3

(3)

14. [6 marks]
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On Trisha’s bookshelf, the ratio of paperback books to hardback books is 5 : 3 
The number of paperback books that Trisha has is 130. 
 
(a) Work out the number of hardback books that Trisha has. 
 
 
 
 
   ............................................  

(1) 
 
The 130 paperback books are split between fiction and non-fiction in the ratio 2 : 3 
 
(b) Work out the number of non-fiction books. 
 
 
 
 
   ............................................  

(1) 

15. [2 marks]

16. [4 marks]
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17. [2 marks]

18. [3 marks]

19. [3 marks]
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20. [3 marks]

21. [3 marks]
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Jack, Kate and Lila share some money in the ratios 5 : 9 : 6
In total, Jack and Kate receive £56

Work out the amount of money Lila receives.

£ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

22. [3 marks]

23. [6 marks]
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24. [4 marks]
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